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kO 10.0] 858 2.0 8, 469, 000
3 |sEm KHEET FAO | 05 0.1 T 33 % 3 T 90 373 37000 3. 740,000
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mkD 200 549 77°000 16, 357, 000
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15 [homtoit |z #AD 10.0 1 61.9 9.9 8, 766, 000
- - - - - - — | 100 640 97 000
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HAD | 50 05 >0 0.8 2 a — | 97 6709 120000 4222000
‘ B am |05 01 62 41 Z 7 T 00405 £.00 309 000
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18 [t | MIAT SAD | 0.7 0.1 5100 3.1 z g — 1 105 45 23.000 1,936, 000
RII220 | B | 3.25 | MD# [ = = == A 8.0 2,905,000 |SLRBE |MEEMKSE
BAO | 1.5 05 >100 2.3 3 < — | 115 516 51.000 3,829, 000
MAOD | 1.3 05 58 1.2 8 g — 1 7.7 612 4200 136000
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19 [T sREpl | W — — — — — - — | 100 622 5. 700
SR N
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FAO | 0.4 0.1 T 265 3 7 T 100 509 73,000 7,851,000
RI.&.14 | 2 3.60 | HOE - - - - — - — | 103 620 74,000 3,482,000 [RALRBE |MEEHES
Bko | 0.3 0.1 2 251 2 3 G| 103 43.4 51.000 4. 476000
o0 [P — MAOD | 03 0.1 37 55 i i | 0.5 46.5 45,000 3,502, 000
(BALOR) - - — - - - — | 100 617 82000
RIL12.24 | 3.20 | #OE 20.0  58.5 73000 8,211,000 [HARKE |REEHES
335 5.7 4,500
mAD | 03 0.1 3% 81 8 a — | 120 376 55. 000 6,349, 000
RAD | 0.9 0.1 6 50 7 7 71 07 482 20.000 1200, 000
- - - - - - — | 100 67.9 93 000
RI.8.S | & 1.77 | e 200 76.5 18,000 3,765,000 [RALRBE |WEEHES
30.7 | 76.5 2.900
s kO | 1.7 0.5 5 2.0 8 < — | 100 692 120000 4,389,000
21 | Kt | WAOD | 04 0.1 55 5.4 8 i G 0.0 58.8 98,000 5. 293, 000
- - - - - - — | 100 685 170000
RI.12.24 | thEE | 2,02 | MO 20.0  60.4 29, 000 7,621,000 [MAREE |REEHES
3.5 60.0 650
mAO | 1.4 0.5 62 5.1 6 a — | 100 600 140,000 7,259, 000
RAOD | 29 05 9% 15 5 4 — 103 572 28.000 1453, 000
= . — — — - - - — | 100 60.2 29. 000
Ri7.23 |BEA g | WO 207 626 25,000 249,00 gy mmn |maRERS
. mokn |32, 05 100 08 4 i — | 100 620 48,000 2 475,000
22 [BEE SBITA 193 624 7.700 415,
an |22 05 o0 34 3 4 — [ 1007560 31.000 2 684 000
RIL12.9 | & 0.92 - - - - - - — 0, 8 1 000 FLEBE |REEHES
D - : , 6, 624, 000
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FAO | 1.3 05 & 1.6 5 i T1 103 504 120,000 9, 447,000
RILT.2A | 2 7.72 | B0LE - - - - - - — 1 90 561 160, 000 7042000 |HALRER |RERHEE
23 | — HkO | 09 0.1 49 35 5 i G| 93 244 29,000 3.328. 000
A L FAOD | 11 05 56 39 7} 7 G 120 452 120000 11074 000
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- - - - - - — | 100 495 52,000
RILIZT | 2 3.03 | WD 20.0 | 39.5 53 000 13,057,000 |HLEKRD |RERHERE
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%5 |l rE2 BT am |07 01 YRR 5 4 —[ oo 29.000 103,000
. - - - - - - —| 100 5509 45, 000
RILIZT | 2 131 | DE 205 536 19,000 3.834.000 |y e |mEEKRES
13 0.5 62 5.1 6 a —| 100 602 51,000
BokO 200 594 50000 5, 908, 000
30.5 | 582 12000
Ty FAO | 09 01 6 4.2 7} 4 — 1 103 275 47900 637,000
Ri7.23 [ EEE 61 | amom - - - - - - — | 107 496 23000 1,656,000 |HLAKE |BEEHEKS
a HkO | 2.4 0.5 64 39 3 G — | 103 492 18.000 1,190,000
04 01 61 57 2 4 — 0.0 341 3500
. 200 316 3700
2% |EBTE 1 SRITHT FIN=! 300 293 3.300 1,649,000
RILIZG | 2 T - - - - - - — B0 =E 300 RLEHE |[RERERE
HIDE 225 41.0 10, 000 1,376, 000
mokn |12, 05 8 65 7 a — [ oo 62 900 1 265,000
FAO | 0.03 ®E a 133 7 3 G 50 238 3900 265, 000
27 |EaBTE2 SBITAT RILT.O3 | & 9.97 | D - - - - - - —| 50 243 4 600 318,000 |HALBKE |WEEHRS
kO | 0.03  ®E 74 13.9 20 3 G| 50 2.8 5. 200 356, 000
- AAD | 003 & 7992 750 5 G107 572 38000 7256, 000
\373 = — — — — — — — =2} ENAESES
28 |33 % RIS1O | 153 | g 100 58 17.00 2 406 000 |FHRER |BEEKKS
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FAO| 0.05 =% 3 1800 750 § G 83 556 77000 1,337,000
28 |z A o - - = _ - - ~ 1 100 273 13000
RI11.20 | B% 101 | BDES 153 438 4,700 1744000 ooy s |spsmmse s
0.10 %8 3 1782 110 5 Al 100 292 18000
kO 10.0 292 13.00 2,937,000
FAO | 03 %® 7 244 33 3 T 103 488 57000 3970, 000
RIS14 | 2 0.87 | #nE = - - = - = — 1 107 558 58 000 3,661,000 |HAREE |BERERSE
2 |six — kD | 05 01 i1 236 28 4 2| 93 a7 54 000 3595 000
) = RAD | 05 0.1 EREA 13 3 a1 73 471 60. 000 2932, 000
RILIL20 | B% 1.40 | S8 - - - - - - — | 70 464 59 000 2,813,000 [HARKE |REEHRKE
HAkD | 06 01 2 56 8 2 G| 83 426 55000 3359, 000
FAD | 05 01 %6 48 5 2 a1 703 621 25 000 1238 000
RIBO | 1.25 | #08E = - — — - - Z1 93 664 23 000 847,000 |HALRES |REEHEL
BkO | 0.8 0.1 4 37 4 i G| 103 635 50. 000 2,200,000
0 [g3R A FAOD | 06 01 100 10 P 4 — 83 640 23000 782000
N HDE - - - - - - —| 87 600 24 000 1,021.000 |« 4 o R
Ri.11.22 | B 1.23 Bokn |09 01 >0 i4 3 G — | 100 702 49000 I il e
193 708 50000 A1,




